

See a Social Security Number? Say Something! Report Privacy Problems to https://public.resource.org/privacy Or call the IRS Identity Theft Hotline at 1-800-908-4490



990-PF

Return of Private Foundation

or Section 4947(a)(1) Trust Treated as Private Foundation

Do not enter Social Security numbers on this form as it may be made public.

OMB No 1545-0052 '

Department of the Treasury Internal Revenue Service Open to Public Inspection ▶ Information about Form 990-PF and its separate instructions is at www.irs.gov/form990pf. 12/01 , 2013, and ending 11/30.2014 For calendar year 2013 or tax year beginning THE MILLSTREAM FUND, INC. A Employer identification number C/O BOND BEEBE, P.C. 52-1472819 Number and street (or P O box number if mail is not delivered to street address) Room/suite Telephone number (see instructions) 900 4600 EAST-WEST HIGHWAY City or town, state or province, country, and ZIP or foreign postal code C If exemption application is BETHESDA, MD 20814-3423 G Check all that apply Initial return Initial return of a former public charity Final return Amended return 2. Foreign organizations meeting the 85% test, check here and attach 'Address change Name change computation - - - - -H Check type of organization X Section 501(c)(3) exempt private foundation Other taxable private foundation E If private foundation status was terminated Section 4947(a)(1) nonexempt charitable trust under section 507(b)(1)(A), check here . Fair market value of all assets at J Accounting method: X Cash If the foundation is in a 60-month termination Other (specify) end of year (from Part II, col. (c), line under section 507(b)(1)(B), check here . > 7,501,406. (Part I, column (d) must be on cash basis.) (d) Disbursements Part I Analysis of Revenue and Expenses (The (a) Revenue and (b) Net investment (c) Adjusted net for charitable total of amounts in columns (b), (c), and (d) expenses per may not necessarily equal the amounts in income ıncome purposes books column (a) (see instructions).) (cash basis only) 850,000 Contributions, gifts, grants, etc., received (attach schedule). if the foundation is not required to attach Sch. B 41 41 Interest on savings and temporary cash investments 73,224 73,224 Dividends and interest from securities SCANNED FRI 9 2 2016 5a Gross rents b Net rental income or (loss) _ 824,714 Net gain or (loss) from sale of assets not on line 10 Gross sales price for all 2,917,585 assets on line 6a 824,714 Capital gain net income (from Part IV, line 2) . Net short-term capital gain . Income modifications Gross sales less returns and allowances **b** Less Cost of goods sold . Gross profit or (loss) (attach schedule) Other income (attach schedule) 11 1,747,979. 897,979 Total. Add lines 1 through 11 . . 13 Compensation of officers, directors, trustees, etc Expenses 15 16 14 Other employee salaries and wages Pension plans, employee benefits 16a Legal fees (attach schedule) 12,300. 740 **b** Accounting fees (attach schedule)ATCH 1 Administrative 52,689. 52,689. Other professional fees (attach schedule). *. . 17 11,025. 18 Taxes (attach schedule) (see instructions) ATCH 3 19 Depreciation (attach schedule) and depletion. 20 21 Travel, conferences, and meetings 22 Printing and publications 833. 23 Other expenses (attach schedule) ATCH . 4 . 24 Total operating and administrative expenses. 76,847. 53,429. Add lines 13 through 23 816,000. 816,000. 25 Contributions, gifts, grants paid 892,847. 53,429. 816,000. Total expenses and disbursements. Add lines 24 and 25 26 Subtract line 26 from line 12: 855,132 a Excess of revenue over expenses and disbursements 844,550

c Adjusted net income (if negative, enter -0-). JSA For Paperwork Reduction Act Notice, see instructions.

b Net investment income (if negative, enter -0-)

3E1410 1 000 2 9WOBM 4817 9/30/2015 6:02:38 PM V 13-7.15 *ATCH 2 MI3810/JAR/RBB

PAGE

THE MILLSTREAM FUND, INC.

_		, (2010)	Attached schedules and amounts in the	Beginning of year	End o	f year
P	art l	Balance Sheets	description column should be for end-of-year amounts only (See instructions)	(a) Book Value	(b) Book Value	(c) Fair Market Value
	1	Cash - non-interest-bear	ing	79,361.	90,036.	
	2		cash investments	288,941.	142,063.	142,063
	3					
		Less allowance for dou	btful accounts ▶			
	4					
		Less allowance for dou	btful accounts ▶			
	5		 [
	6		officers, directors, trustees, and other			
		disqualified persons (at	tach schedule) (see instructions)			
	7	Other notes and loans r	eceivable (attach schedule)			
			btful accounts ▶			
ts	8	Inventories for sale or us				
Assets	9	Prepaid expenses and d	eferred charges			
Ä	10 a	Investments - US and stat	e government obligations (attach schedule).			
	ь	Investments - corporate	stock (attach schedule) ATCH 5	4,294,875.	5,286,210.	7,269,307
	С	Investments - corporate	bonds (attach schedule)			
	11	Investments - land, buildings and equipment, basis Less accumulated deprecia				_
	12	(attach schedule)	loans			
	13	Investments - other (atta	ach schedule)			
	14	Land, buildings, and equipment basis Less accumulated deprecia	tion >			
		(attach schedule)				· · · · · · · · · · · · · · · · · · ·
	15		completed by all filers - see the			
	16		age 1, item I)	4,663,177.	5,518,309.	7,501,406.
\dashv	17	-	ccrued expenses	1,000,1111	3,020,303.	7,301,400
	18		l l	-		
S	19					
ij	20		rs, trustees, and other disqualified persons		- '	
Liabilities	21		tes payable (attach schedule)			
Ë	22		· ►)			
			·			
	23	Total liabilities (add line	s 17 through 22)	O	o	
S		Foundations that follow	ow SFAS 117, check here . ▶ 24 through 26 and lines 30 and 31.			
	24	Unrestricted				
	25					
ĕ	26	Permanently restricted .				
띩			not follow SFAS 117, ▶ 🗓			
띰		check here and com	plete lines 27 through 31.	0		
ွ	27	Capital stock, trust princ	apal, or current funds			
Assets	28	Paid-in or capital surplus, or	land, bldg , and equipment fund			
As	29	Retained earnings, accumu	lated income, endowment, or other funds	4,663,177.	5,518,309.	
	30	Total net assets or fund	balances (see instructions)	4,663,177.	5,518,309.	
	31	Total liabilities and	net assets/fund balances (see			
\bot				4,663,177.	5,518,309.	
	_		inges in Net Assets or Fund E			
1			alances at beginning of year - Part II		· .	
			d on prior year's return)			4,663,177.
		er amount from Part I,				855,132.
			led in line 2 (itemize) ►			
		l lines 1, 2, and 3				5,518,309.
		reases not included in			5	F #10-222
6	Tota	al net assets or fund b	alances at end of year (line 4 minus l	ine 5) - Part II, column (b)), line 30 6	5,518,309.

	990-PF (2013) Conital Gains	and Lagger for Tay on Inv	rootmont Income			Page .
Pa		and Losses for Tax on Inv d describe the kind(s) of property sold		(b) How	(c) Date	1 (0.5)
		rick warehouse; or common stock, 200	· ·	P - Purchase	acquired	(d) Date sold (mo., day, yr.)
1a	SEE PART IV SCHE	DULE		D - Donation	(,,	
b				 		
С						
d						
е_						
	(e) Gross sales price	(f) Depreciation allowed (or allowable)	(g) Cost or other basis plus expense of sale		(h) Gain or (lo (e) plus (f) mini	
а				<u> </u>		
<u>b</u>						<u> </u>
_ <u>c</u> _				<u> </u>		
<u>d</u>						
<u>e</u>			1			
	Complete only for assets	showing gain in column (h) and owne			Gains (Col. (h) g	
(I) F M.V. as of 12/31/69	(j) Adjusted basis as of 12/31/69	(k) Excess of col. (i) over col. (j), if any	COI.	(k), but not less t Losses (from co	
<u>a</u>						
<u>b</u>						
<u></u>				·		
<u>d</u>				ļ. <u> — </u>		
<u>e</u>			Daties and a second sec	 		
2 C	apital gain net income or		gain, also enter in Part I, line 7 (loss), enter -0- in Part I, line 7	2		824,714.
3 N	et short-term canital dain	יי) or (loss) as defined in sections 12	•	 		024, /14.
	• •	t I, line 8, column (c) (see inst				
	-			3		0
Par		Inder Section 4940(e) for Re	duced Tax on Net Investment In			
Was			outable amount of any year in the b	ase perioc	J?	Yes X No
			r, see the instructions before making	anv entri	 es.	
	(a)	(b)	(c)	,,	(d)	
Cale	Base period years indar year (or tax year beginning in)	Adjusted qualifying distributions	Net value of nonchantable-use assets	,	Distribution ra (col. (b) divided by	tio col (c))
	2012	790,250.	5,498,682.			0.143716
	2011	846,843.	4,813,778.			0.175921
	2010	884,686.	4,739,346.			0.186668
	2009	714,570.	3,385,413.	_		0.211073
	2008	445,088.	1,998,353.		. 	0.222727
	otal of line 1, column (d)			2		0.940105
	•	for the 5-year base period - divide				0 100
n	number of years the found	dation has been in existence if less	s than 5 years	3		0.188021
4 E	Enter the net value of non	charitable-use assets for 2013 fro	om Part X, line 5	4	6,	679,956.
5 N	Multiply line 4 by line 3			5	1,	255,972.
6 E	Enter 1% of net investmer	nt income (1% of Part I, line 27b)		6		, 8,446.
7 A	Add lines 5 and 6			7	1,:	264,418.
	Inter qualifying distribution		in Part VI, line 1b, and complete t	8 hat part u		316,000.
	art VI instructions.	Cato. triair line 7, officer the box 1	are vi, ime ib, and complete the	nai pani U	ising a 1/6 tdX	rate see the

	300-11 (2010)	4/20		Page	*
	Excise Tax Based on Investment Income (Section 4940(a), 4940(b), 4940(e), or 4948 - se	e inst	uctio	ns)	_
1a	Exempt operating foundations described in section 4940(d)(2), check here and enter "N/A" on line 1				
_	Date of ruling or determination letter (attach copy of letter if necessary - see instructions)		16	891	
Ъ	Domestic foundations that meet the section 4940(e) requirements in Part V, check		10,	091	<u>-</u>
	here and enter 1% of Part I, line 27b				
С	All other domestic foundations enter 2% of line 27b Exempt foreign organizations enter 4% of \mathcal{I} Part I, line 12, col. (b).				
2	Tax under section 511 (domestic section 4947(a)(1) trusts and taxable foundations only. Others enter -0-) 2				_
3	Add lines 1 and 2		16,	891	<u>.</u>
4	Subtitle A (income) tax (domestic section 4947(a)(1) trusts and taxable foundations only Others enter -0-) 4				0
5	Tax based on investment income. Subtract line 4 from line 3. If zero or less, enter -0		16,	891	<u>.</u>
6	Credits/Payments:				
а	2013 estimated tax payments and 2012 overpayment credited to 2013 6a 7, 646.				
ь	Exempt foreign organizations - tax withheld at source				
c	Tax paid with application for extension of time to file (Form 8868).				
d	Backup withholding erroneously withheld				
7	Total credits and payments Add lines 6a through 6d		37 ,	646	<u>.</u>
8	Enter any penalty for underpayment of estimated tax. Check here if Form 2220 is attached 8				_
9	Tax due. If the total of lines 5 and 8 is more than line 7, enter amount owed				_
10	Overpayment. If line 7 is more than the total of lines 5 and 8, enter the amount overpaid Enter the amount of line 10 to be: Credited to 2014 estimated tax 20,755. Refunded 11		20,	755.	<u>•</u>
11				_	_
	t VII-A Statements Regarding Activities			T .	_
1a	During the tax year, did the foundation attempt to influence any national, state, or local legislation or did it participat	• <u> </u>	Yes		_
	or intervene in any political campaign?			<u> </u>	_
b	Did it spend more than \$100 during the year (either directly or indirectly) for political purposes (see instructions for the	e			
	definition)?			X	_
	If the answer is "Yes" to 1a or 1b, attach a detailed description of the activities and copies of any materials published of	r		1.	
	distributed by the foundation in connection with the activities			,,	
	Did the foundation file Form 1120-POL for this year?	<u> 1c</u>	+	X	_
d	Enter the amount (if any) of tax on political expenditures (section 4955) imposed during the year			1	
	(1) On the foundation \$ (2) On foundation managers \$			1	
е	Enter the reimbursement (if any) paid by the foundation during the year for political expenditure tax imposed of	1			
_	foundation managers. ▶ \$			x	
2	Has the foundation engaged in any activities that have not previously been reported to the IRS?	· 2	+	┿	_
_	If "Yes," attach a detailed description of the activities.				
3	Has the foundation made any changes, not previously reported to the IRS, in its governing instrument, articles of incorporation or bylaws, or other similar instruments? If "Yes," attach a conformed copy of the changes	' 3		l x	
	• • •		+	X	_
	Did the foundation have unrelated business gross income of \$1,000 or more during the year?			+-	_
_	If "Yes," has it filed a tax return on Form 990-T for this year?		+	X	_
5	If "Yes." attach the statement required by General Instruction T	٠ ا		1	_
6	Are the requirements of section 508(e) (relating to sections 4941 through 4945) satisfied either:				
0	By language in the governing instrument, or		ł		
	 By state legislation that effectively amends the governing instrument so that no mandatory directions that conflict 		İ		
	with the state law remain in the governing instrument?		Х	1	
7	Did the foundation have at least \$5,000 in assets at any time during the year? If "Yes," complete Part II, col (c), and Part X'		X		_
	Enter the states to which the foundation reports or with which it is registered (see instructions)			T	_
	DE,				
b	If the answer is "Yes" to line 7, has the foundation furnished a copy of Form 990-PF to the Attorney General (or designate		ı		
~	of each state as required by General Instruction G? If "No," attach explanation	8b		X	_
9	Is the foundation claiming status as a private operating foundation within the meaning of section 4942(j)(3) of	, [
-	4942(j)(5) for calendar year 2013 or the taxable year beginning in 2013 (see instructions for Part XIV)? If "Yes," complete				ألمير
	Part XIV			X	_ 0
10	Did any persons become substantial contributors during the tax year? If "Yes," attach a schedule listing their names and				•
	addresses ATCH 7	. 10	Х	1	
			990-PF	10040	-

JSA

	t:VII-A Statements Regarding Activities (continued)			
_	At any time during the year, did the foundation, directly or indirectly, own a controlled entity within the			
''	meaning of section 512(b)(13)? If "Yes," attach schedule (see instructions).	11		x
42	Did the foundation make a distribution to a donor advised fund over which the foundation or a disqualified			
12	person had advisory privileges? If "Yes," attach statement (see instructions)	12		х
13	Did the foundation comply with the public inspection requirements for its annual returns and exemption application?		Х	
13	N/A			
14	The books are in care of PHOEBE JANE WINTHROP Telephone po 202–338	-154	2	
1	The books are in care of ▶ PHOEBE JANE WINTHROP Located at ▶ 3722 BENTON ST., N.W. WASHINGTON, DC Section 4947(a)(1) nonexempt charitable trusts filing Form 990-PF in lieu of Form 1041 - Check here			
15	Section 4947(a)(1) nonexempt charitable trusts filing Form 990-PF in lieu of Form 1041 - Check here	- <i></i> -	▶	T
	and enter the amount of tax-exempt interest received or accrued during the year		-	
16	At any time during calendar year 2013, did the foundation have an interest in or a signature or other authority		Yes	No
	over a bank, secunties, or other financial account in a foreign country?	16		Х
	See the instructions for exceptions and filing requirements for Form TD F 90-22.1 If "Yes," enter the name of			
	the foreign country			
Pai	rt VII-B Statements Regarding Activities for Which Form 4720 May Be Required			
	File Form 4720 if any item is checked in the "Yes" column, unless an exception applies.		Yes	No
1 a	During the year did the foundation (either directly or indirectly).			
	(1) Engage in the sale or exchange, or leasing of property with a disqualified person? Yes X No			
	(2) Borrow money from, lend money to, or otherwise extend credit to (or accept it from) a			
	disqualified person? Yes X No			
	(3) Furnish goods, services, or facilities to (or accept them from) a disqualified person? Yes X No	:		
	(4) Pay compensation to, or pay or reimburse the expenses of, a disqualified person? Yes X No			
	(5) Transfer any income or assets to a disqualified person (or make any of either available for			
	the benefit or use of a disqualified person)?			
	(6) Agree to pay money or property to a government official? (Exception. Check "No" if the	į		
	foundation agreed to make a grant to or to employ the official for a period after			
	termination of government service, if terminating within 90 days.)			
t	of any answer is "Yes" to 1a(1)-(6), did any of the acts fail to qualify under the exceptions described in Regulations			
	section 53 4941(d)-3 or in a current notice regarding disaster assistance (see instructions)?	1b		X
	Organizations relying on a current notice regarding disaster assistance check here			
c	Did the foundation engage in a prior year in any of the acts described in 1a, other than excepted acts, that			
	were not corrected before the first day of the tax year beginning in 2013?	1c		X
2	Taxes on failure to distribute income (section 4942) (does not apply for years the foundation was a private			
	operating foundation defined in section 4942(j)(3) or 4942(j)(5)).			
a	At the end of tax year 2013, did the foundation have any undistributed income (lines 6d and			
	6e, Part XIII) for tax year(s) beginning before 2013? Yes X No			
	If "Yes," list the years ▶,			
ŀ	Are there any years listed in 2a for which the foundation is not applying the provisions of section 4942(a)(2)			
	(relating to incorrect valuation of assets) to the year's undistributed income? (If applying section 4942(a)(2) to			
	all years listed, answer "No" and attach statement - see instructions)	2b		
•	of the provisions of section 4942(a)(2) are being applied to any of the years listed in 2a, list the years here.		.	
_				
3 8	a Did the foundation hold more than a 2% direct or indirect interest in any business enterprise			
	at any time during the year:			
ı	of f "Yes," did it have excess business holdings in 2013 as a result of (1) any purchase by the foundation or	ı		
	disqualified persons after May 26, 1969; (2) the lapse of the 5-year period (or longer period approved by the			
	Commissioner under section 4943(c)(7)) to dispose of holdings acquired by gift or bequest; or (3) the lapse of		}	
	the 10-, 15-, or 20-year first phase holding period? (Use Schedule C, Form 4720, to determine if the	2 h		
	foundation had excess business holdings in 2013.)	3b 4a		<u>x</u>
	b Did the foundation invest during the year any amount in a mariner that would jeopardize its charitable purposes?	-+a_		
	charitable purpose that had not been removed from jeopardy before the first day of the tax year beginning in 2013?	4b		Х
	chantable barbase that had not been removed from lookardy botors the mot day of the tax year beginning in 2013:	71/		

(a) Name and address of each employee paid more than \$50,000	hours per week devoted to position	(c) Compensation	employee benefit plans and deferred compensation	(e) Expense account, other allowances
NONE				
	_			
Total number of other employees paid over \$50,000 .			.	(

	and Contractors (continued)	, ,
3 Five	highest-paid independent contractors for professional services (see instructions). If none, enter "NONI	."
	(a) Name and address of each person paid more than \$50,000 (b) Type of service	(c) Compensation
NONE		
		
Total numb	per of others receiving over \$50,000 for professional services	
Part IX-A	Summary of Direct Charitable Activities	
List the fou	ndation's four largest direct charitable activities during the tax year. Include relevant statistical information such as the number of	Expenses
	s and other beneficianes served, conferences convened, research papers produced, etc.	
1 N/A		
	**	
2		
3		
4		
Part IX-B	Summary of Program-Related Investments (see instructions)	
	e two largest program-related investments made by the foundation during the tax year on lines 1 and 2	Amount
1 NONE		
2		
All other pr	ogram-related investments. See instructions	
3 NONE		
Total. Add	lines 1 through 3	
		Form 990-PF (2013)

Page 8

Par	X	Minimum Investment Return (All domestic foundations must complete this part. Foreige instructions.)	gn foundations,	
1	Fair	market value of assets not used (or held for use) directly in carrying out charitable, etc.,		
		oses		
а	Aver	age monthly fair market value of securities	1a	6,501,815.
b	Aver	age of monthly cash balances	1b	279,866.
C	Fair	market value of all other assets (see instructions)	1c	
d	Tota	I (add lines 1a, b, and c)	1d	6,781,681.
е	Redu	uction claimed for blockage or other factors reported on lines 1a and		
	1c (a	attach detailed explanation)		
2	Acqu	lisition indebtedness applicable to line 1 assets	2	
3	Subt	ract line 2 from line 1d deemed held for charitable activities. Enter 1 1/2 % of line 3 (for greater amount, see	3	6,781,681.
4	Cash	deemed held for charitable activities. Enter 1 1/2 % of line 3 (for greater amount, see		
	ınstrı	uctions) value of noncharitable-use assets. Subtract line 4 from line 3. Enter here and on Part V, line 4	4	101,725.
5			5	6,679,956.
6		mum investment return. Enter 5% of line 5	6	333,998.
Par	t XI	Distributable Amount (see instructions) (Section 4942(j)(3) and (j)(5) private operating foun and certain foreign organizations check here ▶ ☐ and do not complete this part.)	dations	
1	Mının	num investment return from Part X, line 6	1	333,998.
2 a	Tax	on investment income for 2013 from Part VI, line 5 2a 16,891.		
b	Incor	me tax for 2013. (This does not include the tax from Part VI.) 2b		
С			2c	16,891.
3	Distr	lines 2a and 2b	3	317,107.
4	Reco	overies of amounts treated as qualifying distributions	4	
5			5	317,107.
6	Dedu	lines 3 and 4	6	
7	Distr	ibutable amount as adjusted. Subtract line 6 from line 5. Enter here and on Part XIII,		
	line 1	1	7	317,107.
Par		Qualifying Distributions (see instructions)		
1		ounts paid (including administrative expenses) to accomplish charitable, etc., purposes		
а	Exp	enses, contributions, gifts, etc total from Part I, column (d), line 26	1a	816,000.
b	Prog	gram-related investments - total from Part IX-B punts paid to acquire assets used (or held for use) directly in carrying out charitable, etc.,	1b	
2	Amo	ounts paid to acquire assets used (or held for use) directly in carrying out charitable, etc.,		
	purp	ooses	2	
3	Amo	poses poses pour set aside for specific charitable projects that satisfy the:		
а	Suit	ability test (prior IRS approval required)	3a	
b	Cas	in distribution test (attach the required schedule)	3b	
4	Qual	lifying distributions. Add lines 1a through 3b. Enter here and on Part V, line 8, and Part XIII, line 4	4	816,000.
5		ndations that qualify under section 4940(e) for the reduced rate of tax on net investment income		
		er 1% of Part I, line 27b (see instructions)	5	0
6	Adju	usted qualifying distributions. Subtract line 5 from line 4	6	816,000.
	Note	e. The amount on line 6 will be used in Part V, column (b), in subsequent years when can qualifies for the section 4940(e) reduction of tax in those years.	alculating whether	the foundation

Form 990-PF (2013) Page 9 Part XIII Undistributed Income (see instructions) (a) (b) (c) (d) Corpus Years prior to 2012 2012 2013 Distributable amount for 2013 from Part XI, 317,107. Undistributed income, if any, as of the end of 2013 Enter amount for 2012 only . . Total for pnor years 20 11 ,20 10 ,20 09 Excess distributions carryover, if any, to 2013: 345,494 From 2008 547,059. From 2009 656,119 From 2010 606,968 From 2011 522,651. e From 2012 2,678,291 Total of lines 3a through e Qualifying distributions for 2013 from Part XII, 816,000. line 4 ▶ \$ a Applied to 2012, but not more than line 2a . . . Applied to undistributed income of prior years (Election required - see instructions)..... Treated as distributions out of corpus (Election 317,107. d Applied to 2013 distributable amount 498,893. e Remaining amount distributed out of corpus . . Excess distributions carryover applied to 2013 (If an amount appears in column (d), the same amount must be shown in column (a)) Enter the net total of each column as indicated below: 3,177,184. Corpus Add lines 3f, 4c, and 4e. Subtract line 5 Prior years' undistributed income. Subtract line 4b from line 2b Enter the amount of prior years' undistributed income for which a notice of deficiency has been issued, or on which the section 4942(a) tax has been previously assessed d Subtract line 6c from line 6b Taxable amount - see instructions Undistributed income for 2012 Subtract line 4a from line 2a. Taxable amount - see f Undistributed income for 2013 Subtract lines 4d and 5 from line 1. This amount must be distributed in 2014 Amounts treated as distributions out of corpus to satisfy requirements imposed by section 170(b)(1)(F) or 4942(g)(3) (see instructions) Excess distributions carryover from 2008 not 345,494. applied on line 5 or line 7 (see instructions) Excess distributions carryover to 2014. 2,831,690. Subtract lines 7 and 8 from line 6a Analysis of line 9: 10 547,059 a Excess from 2009 . . . 656,119. b Excess from 2010 . . . 606,968 c Excess from 2011 . . . 522,651. d Excess from 2012 . . . 498,893. e Excess from 2013

c Any submission deadlines: d Any restrictions or limitations on awards, such as by geographical areas, charitable fields, kinds of institutions, or other factors JSA 3E1490 1 000 Form 990-PF (2013) 29W0BM 4817 9/30/2015 6:02:38 PM V 13-7.15 MI3810/JAR/RBB PAGE 11

b The form in which applications should be submitted and information and materials they should include:

Page 11

3 Grants and Contributions Paid Duri Recipient Name and address (home or business)	ng the Year or Appr	oved for F	uture Payment	
, Recipient	If recipient is an individual, show any relationship to	Foundation status of	Purpose of grant or contribution	Amount_
Name and address (home or business)	or substantial contributor	recipient	contribution	
a Paid during the year SEE SCHEDULE ATTACHED	or substantial contributor N/A	PC	GENERAL SUPPORT	816,000
	<u> </u>			016.000
Total			▶ 3a	816,000.
b Approved for future payment				
Total			▶ 3b	

Part XVI	-A Analysis of Income-Produ	cing Acti	vities		· · · · · · · · · · · · · · · · · · ·	
-	amounts unless otherwise indicated.	(a)	ated business income (b)	(c)	/ section 512, 513, or 514	(e) Related or exempt function income
1 Program	n service revenue:	Business code	Amount	Exclusion code	Amount	(See instructions)
a						
ь						
c						
d						
				+		
f						
•	and contracts from government agencies					
	rship dues and assessments		i	14	41.	
	on savings and temporary cash investments			14	73,224.	
	ds and interest from securities					
	tal income or (loss) from real estate:					
	t-financed property					
	debt-financed property			<u> </u>	• • •	
	al income or (loss) from personal property				· -	
	nvestment income	· · · · · · · · · · · · · · · · · · ·		18	824,714.	
	(loss) from sales of assets other than inventory ome or (loss) from special events					
	profit or (loss) from sales of inventory			- 		
						
_	evenue: a					
				1		
е						
	I Add columns (b), (d), and (e)				897,979.	
	add line 12, columns (b), (d), and (e)				13	897,979.
	heet in line 13 instructions to verify calci	ulations.)				
Part XVI	Relationship of Activities	to the Ac	complishment of E	xempt Purp	oses	
Line No.	Explain below how each activit accomplishment of the foundation	-		-		· · · · · · · · · · · · · · · · · · ·
		 	 			
			 			

Form 99				LSIKEAM FUNI				32-14			age 1
Part	XVII	Information R Exempt Orga		ansfers To an	nd Transact	ions a	nd Relation	ships With No	nchar	itable	.
1 D	id the	organization direct	tly or indirectly	engage in any o	of the following	ig with	any other orga	inization described		Yes	No
ır	ı secti	on 501(c) of the Co	ode (other than	section 501(c)(3	3) organizatio	ns) or in	section 527, i	relating to political		1	
0	rganız	ations?									
a T	ransfe	ers from the reportir	ng foundation to	o a noncharitable	exempt orga	nızatıon	of:				
(1) Cas	h							1a(1)		X
		er assets									Х
b C	ther t	ransactions							1	1	
(1) Sale	es of assets to a no	oncharitable exe	empt organization					16(1)		X
		chases of assets from									Х
		ntal of facilities, equ									Х
		mbursement arrang									Х
		ins or loan guarante									Х
		formance of service									Х
		of facilities, equipr									X
		answer to any of th								fair m	arke
v	alue o	f the goods, other any transaction of	assets, or serv	rices given by the	e reporting fo	undatio	n If the found	ation received les	s than	fair m	narke
(a) Line		(b) Amount involved	T	noncharitable exempt		1		ers, transactions, and sh			
	110.	N/A	(O) realise or	TOTAL TRANSPORT		N/A		ore, transcading, and on	<u></u>		
						1					
											
							-				
							- -				
-											
		_				-					
			<u> </u>			 					
											
						1					
		<u> </u>							-		
	-+		 								
			 		-	 		-			-
						 			_		
	-					-					
					-		 .				
0- 1-	. 415.0.4		or indirectly o	ffiliated with or	rolated to an	0 05 7	oro tov ovomot	organizations			
		foundation directly	-							es X	٦ ٨ ٦
		ed in section 501(c	•	other than section	1501(0)(3)) 01	ın secu	1011 527 ?			es L] ио
<u> </u>	Yes,	" complete the follo		(h) Type	of organization			c) Description of relation	nebin		_
		(a) Name of organization	лі	(Б) Туре	or organization		\ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \	C) Description of relador	ТЭНІР		
							<u> </u>			-	
				· · · · · · · · · · · · · · · · · · ·		· · · · ·			-		
									-		_
			_	<u> </u>							
	Y :			<u></u>				- 4b- b-4 -6 4 4-			
	Under	penalties of penjury, i decl., and complete Declaration of	are that I have exam of preparer (other than	nned this retum, includi taxpayer) is based on all i	ing accompanying s information of which	preparer ha	nd statements, and t as any knowledge	o the best of my knowle	age and i	oeliet, it	is true
Sign		TRACOR .	1.5		oko15			May the D	S discus		
Here		LANCES ASSETT IT	MIXTERS		0/2015	<u> </u>	entary The		oreparer		below
	Sign	ature of officer or trustee	ſ	Date		litle	•	(see instruction	ons)? X	Yes	No
	L	D-1/7:12		Done 2		nt	Data		OTIM		
Paid		Print/Type preparer's na		Preparer	7/4/	blew	ام Date 10 - 2 - 1	Check if	PUN	E000	
		JOHN A REDDER		- 1 - 1 Hu	M Kee		~ 10.7.1		P003		
Prepa			OND BEEBE		CULTUE	·		Firm's EIN ► 52-1	10441	9/	
Use (ווע			EST HIGHWAY	SUITE 900		0014 2402	201 (77. 6	000	
		BE	ETHESDA, I	MD		2	0814-3423	Phone no 301-2	272-6	000	

Form 990-PF (2013)

Schedule B

(Form 990, 990-EZ, or 990-PF)

Schedule of Contributors

OMB No 1545-0047

.Department of the Treasury. Internal Revenue Service

▶ Attach to Form 990, Form 990-EZ, or Form 990-PF.

▶ Information about Schedule B (Form 990, 990-EZ, or 990-PF) and its instructions is at www.irs.gov/form990.

Name of the organization		Employer identification number					
THE MILLSTREAM FUND, I	INC.						
C/O BOND BEEBE, P.C.		52-1472819					
Organization type (check one)							
Filers of:	Section:						
Form 990 or 990-EZ	501(c)() (enter number) organization						
	4947(a)(1) nonexempt charitable trust not treated as a private fou	ndation					
	527 political organization						
Form 990-PF	X 501(c)(3) exempt private foundation						
	4947(a)(1) nonexempt charitable trust treated as a private foundat	ion					
	501(c)(3) taxable private foundation						
Note. Only a section 501(c)(7), (8), or (10) organization can check boxes for both the General Rule and a Special Rule. See instructions General Rule X For an organization filing Form 990, 990-EZ, or 990-PF that received, during the year, \$5,000 or more (in money or							
property) from any one Special Rules	contributor. Complete Parts I and II.						
opeciai Ruies							
under sections 509(a)(organization filing Form 990 or 990-EZ that met the 33 1/3 % support to 1) and 170(b)(1)(A)(vi) and received from any one contributor, during the 00 or (2) 2% of the amount on (i) Form 990, Part VIII, line 1h, or (ii) Form	e year, a contribution of					
For a section 501(c)(7), (8), or (10) organization filing Form 990 or 990-EZ that received from any one contributor, during the year, total contributions of more than \$1,000 for use exclusively for religious, charitable, scientific, literary, or educational purposes, or the prevention of cruelty to children or animals Complete Parts I, II, and III							
For a section 501(c)(7), (8), or (10) organization filing Form 990 or 990-EZ that received from any one contributor, during the year, contributions for use exclusively for religious, charitable, etc., purposes, but these contributions did not total to more than \$1,000. If this box is checked, enter here the total contributions that were received during the year for an exclusively religious, charitable, etc., purpose Do not complete any of the parts unless the General Rule applies to this organization because it received nonexclusively religious, charitable, etc., contributions of \$5,000 or more during the year.							
990-EZ, or 990-PF), but it must a	not covered by the General Rule and/or the Special Rules does not file Sonswer "No" on Part IV, line 2, of its Form 990, or check the box on line Hertify that it does not meet the filing requirements of Schedule B (Form 990)	of its Form 990-EZ or on its					

For Paperwork Reduction Act Notice, see the Instructions for Form 990, 990-EZ, or 990-PF.

Schedule B (Form 990, 990-EZ, or 990-PF) (2013)

Name of organization THE MILLSTREAM FUND, INC. _____ C/O BOND BEEBE, P.C.

Employer identification number 52-1472819

Part I	Part I — Contributors (see-instructions).—Use-duplicate-copies-of-Part-l-if-additional-space-is-needed.—————————————————————————————————							
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution					
1_	HOPE ALDRICH C/O BOND BEEBE, P.C. 4600 E-W HIGHWAY BETHESDA, MD 20814	\$850,000.	Person X Payroll Noncash (Complete Part II for noncash contributions.)					
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution					
		\$	Person Payroli Noncash (Complete Part II for noncash contributions)					
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution					
		\$	Person Payroll Noncash (Complete Part II for noncash contributions.)					
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution					
		\$	Person Payroll Noncash (Complete Part II for noncash contributions)					
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution					
		\$	Person Payroll Noncash (Complete Part II for noncash contributions)					
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution					
		\$	Person Payroll Noncash (Complete Part II for noncash contributions)					

Name of organization THE MILLSTREAM FUND, INC.
C/O BOND BEEBE, P.C.

Employer identification number 52-1472819

Part !!'N	loncash Property (see instructions). Use duplicate copies of P	art_ll_if_additional_space_is_ne	eded
(a) No. from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received
		\$	
(a) No. from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received
		\$	
(a) No. from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received
		\$	
(a) No. from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received
		\$	
(a) No. from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received
		\$	
(a) No. from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received
		\$	

Name of organization THE MILLSTREAM FUND, INC.
C/O BOND BEEBE, P.C.

Employer identification number 52-1472819

Part III	Exclusively religious, charitable, etc., individual contributions to section 501(c)(7), (8), or (10) organizations
	that total more than \$1,000 for the year. Complete columns (a) through (e) and the following line entry.

For organizations completing Part III, enter the total of *exclusively* religious, charitable, etc., contributions of \$1,000 or less for the year. (Enter this information once. See instructions.) ▶ \$

a) 140.	duplicate copies of Part III if addition		
a) No. from Part I	(b) Purpose of gift	(c) Use of gift	(d) Description of how gift is held
		· · · · · · · · · · · · · · · · · · ·	
:			
		(e) Transfer of gift	
	Transferee's name, address, and	ZIP + 4	Relationship of transferor to transferee
			· · · · · · · · · · · · · · · · · · ·
\ No			
No.	(b) Purpose of gift	(c) Use of gift	(d) Description of how gift is held
art i			
·			
		(e) Transfer of gift	
	Transferee's name, address, and	ZIP + 4	Relationship of transferor to transferee
) No.			
rom art l	(b) Purpose of gift	(c) Use of gift	(d) Description of how gift is held
ļ		(e) Transfer of gift	
		(e) Transfer of gift	
	Transferee's name, address, and	ZIP + 4	Relationship of transferor to transferee
) No.			
rom art l	(b) Purpose of gift	(c) Use of gift	(d) Description of how gift is held
	.		
<u> </u>		(e) Transfer of gift	
		(e) Transier of gift	
1			Deletionable of topological topological
	Transferee's name, address, and	ZIP + 4	Relationship of transferor to transferee
	Transferee's name, address, and	ZIP + 4	Relationship of transferor to transferee
	Transferee's name, address, and	<u> </u>	Relationship of transferor to transferee

1	
	ATTACHMENT

FEES
ACCOUNTING
- • ∐
⊢∥
PART
990PF,
FORM

THE MILLSTREAM FUND, INC.

DESCRIPTION	BOND BEEBE P.C. TAX PLANNING & PREPARATION; SUPPORT SERVICES FOR GRANTEE CORRESPONDENCE LETTERS AND GRANT PAYMENTS	TOTALS
REVENUE AND EXPENSES PER BOOKS	12,300.	12,300.
NET INVESTMENT INCOME	740.	740.
ADJUSTED NET INCOME		
CHARITABLE		

FORM 990PF, PART I - OTHER PROFESSIONAL FEES

NET INVESTMENT	INCOME	3,984. 48,705.	52.689
REVENUE AND EXPENSES	PER BOOKS	3,984. 48,705.	52.689
			S.TATOT
	DESCRIPTION	CUSTODY FEES ADVISORY FEES	

TOTALS

ATTACHMENT 3

FORM 990PF, PART I - TAXES

REVENUE AND

EXPENSES

PER BOOKS

FRANCHISE TAX EXCISE TAX

DESCRIPTION

25. 11,000.

11,025.

ATTACHMENT 4

FORM 990PF, PART I - OTHER EXPENSES

REVENUE AND EXPENSES

DESCRIPTION CORPORATION FILING FEES BANK FEES

PER BOOKS 709. 124.

TOTALS <u>833.</u>

FORM 990PF, PART II - CORPORATE STOCK

ENDING <u>FMV</u>	7,269,307.	7,269,307.
ENDING BOOK VALUE	5,286,210.	5,286,210.
BEGINNING BOOK VALUE	4,294,875.	4,294,875.
		TOTALS
DESCRIPTION	SEE ATTACHMENT	

ATTACHMENT 5 PAGE 24

ATTACHMENT 6

FORM 990PF, PART VII-A, LINE 8B - EXPLANATION OF NON-FILING

NO FORM 990-PF IF FILED WITH THE DELAWARE ATTORNEY GENERAL OFFICE, AS DELAWARE ONLY REQUIRES THE FILING OF THE RETURN IF THE NON-PROFIT ENTITY CONDUCTS ANY ACTIVITY IN THE STATE.

FORM 990PF, PART VII-A, LINE 10 - NEW SUBSTANTIAL CONTRIBUTORS

NAME AND ADDRESS

HOPE ALDRICH C/O BOND BEEBE, P.C. 4600 E-W HIGHWAY BETHESDA, MD 20814 ATTACHMENT

0

0

3722 BENTON STREET, N.W.

WASHINGTON, DC 20007

PHOEBE JANE WINTHROP

4600 EAST WEST HIGHWAY BETHESDA, MD 20814-3423

C/O BOND BEEBE, P.C.

HOPE ALDRICH

NAME AND ADDRESS

TAX I D # 52-1472819

CONTRIBUTIONS MADE DURING THE PERIOD DECEMBER 1, 2013 THROUGH NOVEMBER 30, 2014

						ı	•	o addi
<u>Donee</u>	<u>Date</u>	Amount	Street Address	<u></u>	의		Purpose	Charity
Asian Cultural Council	06/24/14	25,000 00 6	6 West 48th St, 12th Floor	New York	Σ	10036-1802 G	General Support	Public
Bach Choir of Bethlehem	05/15/14	25,000.00 44	440 Heckewelder Place	Bethlehem	PA 1	18018 Ge	General Support	Public
BayKids	06/24/14	15,000 00 10	1007 Genl Kennedy Ave Box 10	San Francisco	CA 9	94129 G	General Support	Public
Bowers Museum	06/24/14	2,500 00 20	2002 North Main St	Santa Ana	o V	92706 G	General Support	Public
Brearley School	06/24/14	3,500 00 6	610 East 83rd Street	New York	γ	10028-7988 G	General Support	Public
California State Parks Foundation	06/24/14	10,000 00 50	50 Francisco St, Ste 110	San Francisco	CA 9	94133 G	General Support	Public
Center for Reproductive Rights	06/24/14	15,000 000 12	120 Wall, 14th Floor	New York	Σ	10005 G	General Support	Public
Columbia Center for Children's Environment:	06/24/14	5,000.00 72	722 West 168th Street, 12th Floor New York	New York	×	10032 G	General Support	Public
Conservation Minnesota	06/24/14	25,000 00 17	1101 West River Pkwy, Ste 250	Minneapolis	MN 5	55415-4853 G	General Support	Public
Cystinosis Research Foundation	06/24/14	2,500 00 18	18802 Bardeen Avenue	Irvine	6 Y	92612 G	General Support	Public
Essential Public Media	06/24/14	25,000 00 67	67 Bedford Square	Pittsburgh	PA	15203 G	General Support	Public
High Country News Foundation	06/24/14	5,000 00 P	P O Box 1090	Paonia	8	81428 G	General Support	Public
Hoag Hospital Foundation	06/24/14	2,500 00 50	500 Superior Ave, Ste 350	Newport Beach CA		92663 G	General Support	Public
Institute for Policy Studies	06/24/14	5,000 000 1	1112 16th St NW, Ste 600	Washington	2	20036 G	General Support	Public
KCET Public Television	06/24/14	5,000 00 29	2900 West Alameda Ave	Burbank	CA	91505 G	General Support	Public
KERA	06/24/14	25,000 00 30	3000 Harry Hines Boulevard	Dallas	Ϋ́	75201 G	General Support	Public
KJZZ 91 5 FM	06/24/14	25,000 00 23	2323 West 14th Street	Tempe	AZ 8	85281 Fr	Fronteras offices	Public
KPCC/Southern CA Public Radio	06/24/14	10,000 00 47	474 South Raymond Ave	Pasadena	CA 6	91105 G	General Support	Public
KUNM 89 9 FM	06/24/14	15,000 00 O	Onate Hall, 1 University of NM	Albuquerque	ω W W	87131-0001 G	General Support	Public
Link Counseling Center	06/24/14	10,000.00	348 Mt Vernon Highway NE	Atlanta	GA 33	0328-4139 G	30328-4139 General Support	Public
Literacy Services, NB Public Library	06/24/14	500 00 10	1000 Avocado Ave	Newport Beach CA		12660-7915 LI	92660-7915 Literary Services	Public
Museum of Modern Art	06/24/14	2,500 00 1	11 West 53rd Street	New York	Σ	10019 G	General Support	Public
NARAL-Pro Choice America Foundation	06/24/14	20,000.00	1156 15th Street N W	Washington	2	20005 G	General Support	Public
National Dance Institute of New Mexico	06/24/14	50,000.00 1	1140 Alto Street	Santa Fe	ω WN	17501-2596 At	87501-2596 At-risk youth programs	s Public
National Dance Institute-New York	06/24/14	25,000.00 2	217 West 147th Street	New York	Ν	0039-3427 G	0039-3427 General Support	Public
Natural Resources Defense Council	06/24/14	15,000.00 40	40 West 20th Street	New York	∑	10011 G	General Support	Public
Newport Beach Public Library Foundation	06/24/14		1000 Avocado Ave	Newport Beach CA		92660-7915 G	General Support	Public
Pacific Symphony	06/24/14		3631 S Harbor Blvd, Ste 100	Santa Ana	CA 6	92704-8908 G	General Support	Public
Philharmonic Society of Orange County	06/24/14	1,500 00 20	2082 Business Ctr Dr, Ste 100	Irvine	CA	92612 G	General Support	Public
Planned Parenthood Federation of America	06/24/14	75,000 00 43	434 West 33rd Street	New York	N 1	10001 G	General Support	Public
Planned Parenthood of New Mexico	06/24/14	20,000 00 7	719 San Mateo N.E.	Albuquerque	WΝ	87108 G	General Support	Public
Planned Parenthood of New York City Inc	06/24/14	50,000 00 20	26 Bleecker Street, 6th Floor	New York	N Y	10012-2413 G	General Support	Public
Planned Parenthood of Orange & SanBernar	06/24/14	10,000 00 70	700 S Tustin St	Orange	δ V		General Support	Public
Population Council	06/24/14	25,000 00 O	One Dag Hammarskjold Plaza	New York	•	10017 G	General Support	Public
Progressive, The	06/24/14	1,000.00 40	409 East Main Street	Madison	S IW	53703 G	General Support	Public

THE MILLSTREAM FUND, INC. TAX I D # 52-1472819

CONTRIBUTIONS MADE DURING THE PERIOD DECEMBER 1, 2013 THROUGH NOVEMBER 30, 2014

								l ype of
Donee	<u>Date</u>	Amount	Street Address	City	State	ZID	<u>Purpose</u>	Charity
Public Radio Program Directors Association	06/24/14	25,000 00	25,000 00 38 Milford Street	Hamilton	ž	13346	General Support	Public
Responsible Wealth	06/24/14	10,000 00	10,000 00 1 Milk Street, 5th Floor	Boston	Ψ	02109	General Support	Public
Rockefeller Family Fund	06/24/14	125,000 00	125,000 00 475 Riverside Drive, Ste 900	New York	¥	10116-006	10116-0066 General Support	Public
SITE Santa Fe	06/24/14	15,000 00	15,000 00 1606 Paseo de Peralta	Santa Fe	Σ	87501	87501 General Support	Public
Smith Fund, The	06/24/14	15,000.00	15,000.00 P.O. Box 340029	Boston	¥	02241-042	MA 02241-0429 General Support	Public
South Coast Repertory	06/24/14	5,000 00	5,000 00 655 Town Center Drive	Costa Mesa	S	CA 92626	General Support	Public
Southwest Women's Law Center	06/24/14	2,500.00	2,500.00 1410 Coal Ave SW	Albuquerque	Σ	87104	General Support	Public
Washington Bach Consort	06/24/14	50,000 00	50,000 00 1010 Vermont Ave NW, Ste 202 Washington	Washington	2	20005-494	DC 20005-4943 General Support	Public
WETA	06/24/14	15,000.00	15,000.00 3939 Campbell Avenue	Arlington	₹	VA 22206	General Support	Public

TOTAL GIFTS AND GRANTS PAID

816,000 00

PRINCIPAL SECURITIES SOLD, LIQUIDATED OR REDEEMED DURING THE PERIOD DECEMBER 1, 2013 THROUGH NOVEMBER 30, 2014 TOGETHER WITH GAINS REALIZED OR LOSSES INCURRED

LOGETHER WITH GAINS REALISED	No Newton	3	A LOSSES INCORRED				Book Val	Book Value Information	. uo
	Date	Date	Net	Tax		1	Acquis	Book	Book
Description	Acquired	Sold	Proceeds	Cost	Gain	Loss	Date	Cost	Gain (Loss)
ALL CAPITAL GAINS AND LOSSES (SHORT-TERM AND LONG-TERM)	RM AND LON	G-TERM)							
700 KANSAS CITY SOUTHERN	10/24/12	01/06/14	81,534,78	55.381.13	26.153.65	00 0	10/24/12	55, 381, 13	26 153 65
1134 OCEANEERING INTL INC	06/10/13	01/27/14	79,135.91	82,650.44	00.00	(3,514,53)	06/10/13		(3,514,53)
534 ALLERGAN INC	11/04/10	02/10/14	63,938.66	39,299.30	24,639 36	00 0	11/04/10	39,299 30	24,639 36
375 LINKEDIN CORP	10/18/13	02/18/14	70,897 64	92,589.50	00 0	(21,691 86)	10/18/13		
144 LINKEDIN CORP	11/19/13	02/18/14	27,224 69	31,950.32	00.00	(4,725.63)	11/19/13	31,950.32	(4,725.63)
1064 ANSYS INC	10/18/13	03/18/14	80,513.38	90,684.61	00.00	(10,171.23)	10/18/13	90,684 61	(10,171.23)
836 DIRECTV	01/22/13	03/18/14	63,777.32	44,675.76	19,101.56	00 0	01/22/13	44,675 76	19,101 56
1000 STARBUCKS CORP	09/21/12	04/14/14	69,269.90	51,439.93	17,829.97	00.00	09/21/12	51,439.93	17,829.97
1100 STARBUCKS CORP	10/11/12	04/14/14	76,196.88	53,382.89	22,813.99	00.00	10/11/12	53,382.89	22,813 99
1200 TRACTOR SUPPLY CO	02/07/12	04/21/14	80,363 22	50,240.18	30,123.04	00 0	02/07/12	50,240.18	30,123 04
90 GOOGLE INC	06/24/10	04/28/14	46,481.97	21,455 92	25,026 05	00 0	06/24/10	21,455 92	25,026 05
90 GOOGLE INC	06/24/10	04/28/14	45,732.83	21,387 38	24,345 45	00 0	06/24/10	21,387.38	24,345.45
16 GOOGLE INC	06/16/11	04/28/14	8,263.46	4,046 76	4,216 70	00 0	06/16/11	4,046.76	4,216.70
15 GOOGLE INC	06/16/11	04/28/14	7,622 14	3,781 71	3,840 43	00 0	06/16/11	3,781 71	3,840 43
1800 AMERICAN TOWER CORP	03/23/11	05/05/14	158,928.82	89,261.10	69,667 72	00 0	03/23/11	89,261.10	69,667 72
1700 AMPHENOL CORP NEW	12/23/10	05/12/14	163,714.42	89,556 00	74,158.42	00.00	12/23/10	89,556 00	74,158 42
238 GRAINGER W W INC	08/01/12	06/09/14	63,557.25	49,030 93	14,526 32	00 0	08/01/12	49,030 93	14,526 32
725 MONSANTO CO	01/20/11	06/09/14	87,873 11	51,008 83	36,864 28	00 0	01/20/11	51,008 83	36,864.28
500 MONSANTO CO	11/30/11	06/09/14	60,602 14	36,268 50	24,333 64	00 0	11/30/11	36,268 50	24,333 64
SOFTWARE	11/04/10	06/23/14	60,289.02	39,025.38	21,263 64		11/04/10	39,025 38	21,263 64
521 CHECK POINT SOFTWARE TECH LTD	12/23/10	06/23/14	34,900 64	23,906 74		00 0	12/23/10	23,906 74	10,993 90
279 CHECK POINT SOFTWARE TECH LTD	12/23/10	06/24/14	18,625.84	12,802 26	5,823 58	00 0	12/23/10	12,802 26	5,823 58
234 MCKESSON CORP	06/19/13	06/30/14	43,943 38	26,932 00	17,011 38		06/19/13	26,932 00	17,011 38
807 STRYKER CORP	03/20/13	06/30/14	61,907 19	52,750 53	15,156 66	00 0	03/20/13	52,750.53	15,156.66
7 STRYKER CORP	04/03/13	06/30/14		456 05	132 98		04/03/13	456 05	132 98
1152 ECOLAB INC	11/04/10	07/14/14	126,598 16	57,288.96	69,309 20		11/04/10	57,288.96	69,309 20
700 WATERS CORP	12/23/10	07/21/14	71,000 20	55,804.00	15,196 20	00 0	12/23/10	55,804 00	15,196.20
70 WATERS CORP	05/08/13	07/21/14	7,100 02	6,632 88	467 14		05/08/13	6,632.88	467 14
160 WATERS CORP	05/08/13	07/22/14				00 0	05/08/13	15,160 86	2,053 29
50 ROSS STORES INC	01/20/11	08/04/14		1,630 52	1,603 51		01/20/11	1,630.52	1,603 51
1450 ROSS STORES INC	01/28/11	08/04/14		47,956 14	45,830 72	00 0	01/28/11	47,956.14	45,830.72
30 PRICELINE GROUP INC	09/18/13	08/05/14		29,321.69	9,582 14	00 0	09/18/13	29,321.69	9,582.14
271 NU SKIN ENTERPRISES INC	09/26/11	08/18/14	13,432 33	11,775 20	1,657 13	00 0	09/26/11	11,775.20	1,657.13
447 NU SKIN ENTERPRISES INC	05/23/13	08/18/14		27,242.53	0.00	(5,086.62)	05/23/13	27,242.53	(5,086.62)
837 NU SKIN ENTERPRISES INC	01/27/14	08/18/14	41,486 58	67,065 46	00.00	(25,578 88)	01/27/14	67,065 46	(25,578 88)
196 ALLIANCE DATA SYS CORP	07/16/13	08/25/14	52,000.23	37,014 06	14,986 17	00.00	07/16/13	37,014 06	14,986.17
368 GILEAD SCIENCES INC	12/23/10	08/25/14	39,293.74	6,671 75	32,621.99	00.00	12/23/10	6,671 75	32,62199
103 ALLIANCE DATA SYS CORP	07/16/13	09/02/14	27,172.80	19,451.26	7,721.54	00.00	07/16/13	19,451 26	7,721 54
145 ALLIANCE DATA SYS CORP	10/02/13	09/02/14	38,252 96	30,953 85	7,299 11	00 0	10/02/13	30,953 85	7,299 11
689 LPL FINL HLDGS INC	10/02/13	09/02/14	33,320 47	26,607.08	6,713.39	0.00	10/02/13	26,607.08	6,713.39

TAX I.D. # 52-1472819

PRINCIPAL SECURITIES SOLD, LIQUIDATED OR REDEEMED DURING THE PERIOD DECEMBER 1, 2013 THROUGH NOVEMBER 30, 2014 TOGETHER WITH GAINS REALIZED OR LOSSES INCURRED

							Book Val	Book Value Information	on
	Date	Date	Net	Тах		•	Acquis	Book	Book
Description	Acquired	Sold	Proceeds	Cost	Gaın	Loss	Date	Cost	Gain (Loss)
490 UNION PAC CORP	01/06/14	09/08/14	52,665 13	40,546 15	12,118 98	00.00	01/06/14	40,546 15	12,118 98
664 UNION PAC CORP	01/06/14	09/15/14	70,877.31	54,944 17	15,933.14	00 0	01/06/14	54,944 17	15,933 14
881 SCHLUMBERGER LTD	11/04/10	09/22/14	89,669 32	65,655 01	24,014 31	00.00	11/04/10	65,655 01	24,014 31
348 DST SYS INC DEL	06/09/14	10/06/14	29,367 50	32,188 98	00 0	(2,821 48)	06/09/14	32,188.98	(2,821 48)
145 DST SYS INC DEL	06/09/14	10/01/14	12,145 04	13,412.08	00.0	(1,267 04)	06/09/14	13,412 08	(1,267 04)
134 DST SYS INC DEL	06/10/14	10/07/14	11,223 70	12,426.76	00 0	(1,203.06)	06/10/14	12,426 76	(1,203.06)
360 DST SYS INC DEL	06/10/14	10/13/14	30,271 23	33,385.33	00.00	(3,114 10)	06/10/14	33,385 33	(3,114 10)
57 DST SYS INC DEL	06/11/14	10/13/14	4,792 94	5,262 26	00 0	(469 32)	06/11/14	5,262 26	(469 32)
432 DST SYS INC DEL	06/11/14	10/14/14	36,163 62	39,882 39	00.00	(3,718 77)	06/11/14	39,882 39	(3,718.77)
0 DELL INC	02/10/11	10/17/14	226.64	00 0	226.64	00 0	02/10/11	00 0	226.64
250 DISCOVERY COMMUNICATIONS INC	05/16/11	10/20/14	8,521 32	5,501 62	3,019 70	00 0	05/16/11	5,501 62	3,019 70
1200 DISCOVERY COMMUNICATIONS INC	06/27/11	10/20/14	40,902 34	23,882 67	17,019 67	00 0	06/27/11	23,882.67	17,019 67
403 CELGENE CORP	04/30/13	10/27/14	41,427.82	23,659.79	17,768 03	00.0	04/30/13	23,659 79	17,768 03
31 PRICELINE GROUP INC	09/18/13	10/27/14	35,310.47	30,299.08	5,011.39	00.00	09/18/13	30,299 08	5,011.39
28 PRICELINE GROUP INC	10/22/13	10/27/14	31,893 32	30,269.84	1,623 48	00.0	10/22/13	30,269.84	1,623.48
1223 ADOBE SYS INC	08/14/13	11/03/14	85,442 58	57,470 14	27,972.44	00 0	08/14/13	57,470 14	27,972.44
683 COVIDIEN PLC	11/11/11	11/10/14	63,260.15	29,687.21	33,572.94	00.00	11/11/11	29,687.21	33,572.94
917 COVIDIEN PLC	11/11/11	11/11/14	86,589.66	39,858.23	46,731.43	00 0	11/11/11	39,858.23	46,731 43

2,092,872.10 824,713.88

2,917,585.98 2,092,872.10 908,076.40 (83,362.52)

TOTAL ALL STOCKS

STATEMENT OF ASSETS AS OF NOVEMBER 30, 2014

		******	Deels Welma/		11/20/14
Decementson	Quantity	Unit Cost	Book Value/ Cost Basis	Price	11/30/14 <u> </u>
Description	OUBITEREY	COSC	COSC DASIS		
** Equities **	1,950	51.44	100,314.51	86.33	168,344
ACCENTURE PLC	894	85.77	76,679.56	87.24	77,993
AETNA INC	2,206	61.83	136,389.17	59.04	130,242
ALBEMARLE CORP	796	73.59	58,580.98	213.89	170,256
ALLERGAN INC			•		•
AMGEN INC	1,809	112.57	203,640.10	165.31	299,046
APPLE INC	3,398	80.76	274,415.24	118.93 52.68	404,124
ARCHER DANIELS MIDLAND CO	1,499	50.68	75,965.21		78,967
BALL CORP	2,318	61.47	142,498.81	67.07	155,468
BARD C R INC	563	146.21	82,317.17	167.35	94,218
CBOE HLDGS INC	1,401	53.88	75,490.04	59.91	83,934
CELGENE CORP	1,347	63.98	86,183.65	113.69	153,140
COCA COLA CO	2,308	42.23	97,464.28	44.83	103,468
COSTCO WHSL CORP NEW	1,300	79.26	103,039.20	142.12	184,756
CVS HEALTH CORP	2,100	46.03	96,662.79	91.36	191,856
DANAHER CORP DEL	1,765	61.81	109,103.35	83.56	147,483
DIRECTV	2,009	60.54	121,631.73	87.71	176,209
DISCOVERY COMMUNICATIONS INC	1,450	20.81	30,170.41	34.90	50,605
DISNEY WALT CO	1,607	82.12	131,965.23	92.51	148,664
DR PEPPER SNAPPLE INC	2,564	61.00	156,416.14	74.00	189,736
EMC CORP	5,255	20.15	105,897.85	30.35	159,489
EXPRESS SCRIPTS HLDG CO	1,600	39.48	63,172.57	83.15	133,040
GAP INC DEL	3,105	45.35	140,800.33	39.60	122,958
GARTNER GROUP INC NEW	1,909	57.36	109,492.81	85.48	163,181
GILEAD SCIENCES INC	1,325	18.13	24,021.92	100.32	132,924
GOOGLE INC	129	303.24	39,118.57	549.08	70,831
GOOGLE INC	130	301.89	39,245.71	541.83	70,438
HOME DEPOT INC	3,172	85.65	271,695.83	99.40	315,297
INTERNATIONAL BUSINESS MACHS	514	192.10	98,741.65	162.17	83,355
INTUIT	1,964	60.01	117,863.76	93.87	184,361
LPL FINL HLDGS INC	1,579	39.29	62,042.69	42.67	67,376
MCKESSON CORP	715	115.65	82,686.34	210.76	150,693
MICROSOFT CORP	7,771	40.31	313,212.36	47.81	371,532
NIKE INC	1,254	33.12	41,528.88	99.29	124,510
ORACLE CORP	6,070	36.27	220,161.05	42.41	257,429
PEPSICO INC	2,425	92.02	223,149.35	100.10	242,743
PETSMART INC	1,188	70.47	83,721.50	78.76	93,567
PHILLIPS 66	1,520	77.26	117,440.01	73.02	110,990
POLARIS INDS INC	1,064	87.44	93,036.55	156.71	166,739
PRECISION CASTPARTS CORP	450	172.72	77,724.86	237.90	107,055
QUALCOMM INC	854	79.34	67,756.27	72.90	62,257
REINSURANCE GROUP AMER INC	879	84.92	74,646.90	85.72	75,348
RESMED INC	1,759	46.13	81,146.24	53.20	93,579
ROPER INDS INC NEW	650	123.48	80,259. 4 7	157.82	102,583
SCHLUMBERGER LTD	769	83.76	64,413.21	85.95	66,096
STRYKER CORP	804	65.15	52,380.28	92.91	74,700
UNITED TECHNOLOGIES CORP	1,520	67.55	102,682.49	110.08	167,322
VERIZON COMMUNICATIONS INC	2,739	49.03	134,290.86	50.59	138,566
VISA INC	793	72.71	57,661.81	258.19	204,745
WELLS FARGO & CO	2,700	32.33	87,289.84	54.48	147,096
Security Totals			5,286,209.53		7,269,307

THE MILLSTREAM FUND, INC.

FORM 990-PF - PART IV
CAPITAL GAINS AND LOSSES FOR TAX ON INVESTMENT INCOME

Kind of F		Description					Date acquired	Date sold
Gross sale price less expenses of sale	Depreciation allowed/	Cost or other	FMV as of	Adj. basis as of	Excess of FMV over ad basis	T	Gain or (loss)	
expenses of sale	allowable	basis	12/31/69	12/31/69	adı basis	+	(loss)	
		PUBLICLY TRADED SECURITIES PROPERTY TYPE: SECURITIES				P	VARIOUS	VARIOUS
2,917,586.		2,092,872.	YPE: SECURI	TIES			824,714.	
OTAL GAIN(I	oss)						824,714.	
		}						